g Rt

3 KB | GHMER | (FEIHR R
WSAS51 | SMREES N B | BRBEZIVERER

TEE: NEALR) TEEATH: T(PIRLE)

@ JRERTE

o
g 2 D
w‘, I T‘ i F
‘ < O] ‘
< o I m e ‘
L ‘
- 3 |
o | f o
D
WeptntE: F—0f
B s 2 —m | BEXEH | RAMEN | ERESEE
KRG SEITR EEITH STRMTE2 (200kg/cm?) (kg/cm?) (kg/cm?)
12 10 200
16 N(FTFLE) 12 400
WSA51 20 T(RERL ) 15 620 70 20~250
25 16 980
TEETE A 8 ( D F G H N
NFEARE) | T(HBLE) NFFE) | T(RRNE)
12 38 45 36 36 7 M22x1.5 12 16 6 M6x1.0
16 46.5 52 445 44.5 8 M26x1.5 16 20 7 M6x1.0
20 57.5 64.5 51 51 8 M30x1.5 20 24 7 M8x1.25
25 58.5 67.5 55 55 11 M38x1.5 25 28 10 M8x1.25

rey o T | AR
& :’E [EECEE) "
WEAS |5 | T ~ n

BRETTE  \WSA51— 12 —N KEHGT)




	页 5

